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SOCIOLOGY
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note — This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.

1. According to Ethnomethodologists, which type of reasoning is used by

people 7
(A) Inductive Reasoning (B) Deductive Réasoning
(C) Practical Reasoning (D) No Reasoning
2. “The ‘Self in modern society becomes a sacred object in the same way that

the collective symbols of primitive societies.” Who has propounded this

view ?
(A) Weber - (B) Mead
(C) Durkheim (D) Goffman

3. Who described the phenomenon of glocalization in today’s world as ‘globalization

of something’ ?
(A) George Ritzer (B) Jean Baudrillard

(C) Anthony Giddens (D) Michel Foucault
T.B.C. : 13/17/ET—III 2
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4. Arrange in the logical order in which Peter Berger has explined :
(A) Habitualization, Institutionalization, Legitimation, Externalization
(B) Institutionalization, Legitimation, Externalization, Habitualization
(C) Habitualization, Legitimation, Externalization, Institutionalization
(D) Legitimation, Institutionalization, Habitualization, Externalizafion

5. “Neo-functionalism operates with descriptive model of society that sees society

as composed of elements which form a pattern,” who stated this view ?

(A) P. Colomy : (B) J. Alexander

(C) T. Parsons (D) R.K. Merton
6. Which problems neo-functionalism needed to surmount ?

(A) Anti-individualism and idealism

(B) Antagonism to change and antiempirical bias

(C) Both (A) and (B)

(D) None of the above

T.B.C.: 13/17/ET—III 4
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7 Who has argued that ethno methods are ‘reflexively accountable’ ?
(A) Orbuch (B) Garfinkel
(C) Schutz (D) Hilbert

8. Who has observed a link between the structures of mind and the structures

of society 7
(A) Lemert (B) Radcliffe Brown
(C) Levi-Strauss (D) Foucault
9. Who said to have articulated integration of ‘agency and structure’ in

structuration theory ?
(A) Michel Foucault (B) dJ. Derrida
(C) Anthony Giddens (D) J.M. Bernstein

10. Who considers “Language as disordely and unstable” in his concept of

“Deconstruction” ?
(A) Derrida (B) Godelier

(C) Foucault (D) Lemert

T.B.C.: 13/17/ETIII 6
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11. What are the three forms of scientific knowledge that Habermas seeks to

identify ?

(@) Empirical-analytical |

(6) Ethical-philosophical

(¢) Hermeneutic Inquiry

(d) Critical and emancipating

Select the correct answer from the codes given below :
(A) (a), (B), (@ (B) (b), (e), (d)
©) (@), (), (@) D) (a), (e), (@)

12. According to Althuser “Epistemological Break” in the context of Marx’s

writings refers to :

(A) Marx’s concept of dialectical materialism

(B) Polarization of two classes leading to class conflict

(C) Contradiction between means of production and relations of production

(D) Distinction between Marx’s early philosophical work and his later

scientific theory

TB.C.: 13/17/ET—III , 8
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13.

14.

15.

16.

1k

_ A repudiation of logo-centric construction of ground narratives is termed as :

(A) Meta-narrative (B) Legitimation

(C) Discourse (D) Deconstruction

From whom the signifier has no stable relations to be signified ?

(A) J. Derrida (B) M. Foucault

(C) A. Giddens (D) J. Habermass

Which of the following concepts Giddens uses in his theory of structuration ?
(A) Dual Analysis (B) Dual Roles

(C) Duality of Structures (D) Structural Dualism

Which of the following constitutes an important methodological component

in Foucault’s work ?
(A) Structuration Theory (B) Archaeology of Knowledge
(C) Phenomenological Perspective (D) Symbolic Interactionism

A process of downward spread of elements of cultural tradition, which is written

and widely adopted by the elites of the society is called :
(A) Great tradition (B) Little tradition

(C) Universalisation (D) Parochialisation

T.B.C.: 13/17/ET—III 10
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18. "Who said “Caste is a closed class” ?
(A) D.N. Majumdar - (B) S.C. Dube
(C) Andre Beteille : (D) M.N. Srinivas

19. Who has indicated diversities of Indian Culture and contributed a book

“Diversities” ?
(A) R.K. Mukherjee (B) D.P. Mukherjee
(C) G.S. Ghurye (D) S.C. Dube
20. Who has edited the volumnious work ‘People of India’ ?
(A) G.S. Ghurye (B) S.C. Dube
(C) Yogendra Singh ‘ (D) K.S. Singh-
21. Which one of the folléwing is not a source of diversity in India ?
| (A) Religion ~ (B) Language
(C). Natiénal Emblem D) Culture

99, Most authoritative and widely accepted classification of six major racial

elements in the population of India is given by :
(A) B.S. Guha (B) G.S. Ghurye

(C) L.P. Vidyarthi (D) Irawati Karve

T.B.C.: 1317/ET—III : 12
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23.  Which theoretical perspective is based on the view that liberty is neither
received as a gift; it has to be fought for self-elevation is not achieved by

the blessings of others but by self-struggle ?
(A) Marxian (B) Structural
(C) Subaltern ' (D) Civilizational

24. The Dowry Prohibition (Amendment) Act was passed in which of the following

years ?
(A) 1963 -~ (B) 1965
(C) 1984 D) 1961

95. Who did interactional analysis of Caste System ?
(A) L. Dumont (B) Surjit Sinha
(C) M.N. Srini\.ras (D) D.P. Mukherjee
26. Ethnicity refers to :
(A) Achieved socio-cultural attributes
(B) Inherited socio-cultural attributes
(C) Inherited political position and achieved economic attﬁsutes

(D) Inherited and achieved socio-cultural attributes

“T.B.C.: 1817/ET—III 14
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27.

28.

29.

30.

31.

Who among the following has suggested a three-fold division of India’s

agricultural population into Malik, Kisan and Mazdoor ?
(A) D.N. Dhanagare (B) Katheline Gough
(C) A.R. Desai . (D) Daniel Tharner

By studying agrarian class structure in rural Bengal during British period
who has concluded that ‘Indian rural society was neither a static nor an

egalitarian one 7’

(A) N.K. Bose (B) Andre Beteille

(C) Ram Krishna Mukherjee (D) D.N. Dhanagare

Which state of India was the first to pass Jamindari Abolition Act ?
(A) Bihar (B) Uttar Pradesh

(C) Rajasthan | (D) Karnataka

Who had argued that ‘the attached labour in the post Green Revolution agrarian

setting was more like permanent employment in the organized sector’ ?
(A) Paul Brass (B) G.S. Bhalla

(C) A. Rudra (D) J. Mohan Rao

Which of the following is not the feature of Caste System ?

(A) Hierarchy (B) Hereditary occupation

(C) Exogamous marriages (D) Untouchability

T.B.C.: 13/17/ET—III 16



217.

28.

29.

30.

31.

wifer, fream W@ ASEY YRA #1 H seEen # 8§ RS dm g § st
¥ ?

(A) B g9 (B) dgelH M
(C) W.3R. TS D) fEe gt

fafewr e & SR wndior Sme § wE o S F eI wla gu R uw
Wmﬁ‘wmmwamﬂﬁm?ﬁmm'?

(A) TWH. 9 (B) 3= o

(C) THFS HEsAl (D) L. TR

gRE & fRg T § wed TR wHRR BT Sjer eifuftm wif@ feen T 2
(A) faer (B) W W
(C) TSTEAH (D) FHAEH

fros g5 o3 fou o1 & ‘sfe ot & 9] o =oxa 4 g9g 4f E 98d &
% gufod & & Wl IR R e @ A’ ?

(A) U 919 : (B) <f.ug. goen
(C) W ¥ (D) . Hed ™
freafafea # ¥ 0 wifa oveeen =t fadwm T8 & 2
(A) TEITHA (B) @ dem

(C) wfEfaars (D) oTEgvHa

T.B.C. : 13/17/ET—III | 17 T,



32. Land reforms in land ownership patterns, implemented in India since

Independence have broﬁght in :

(A) Cultural changes only

(B) Structural changes in terms of social categories

(C) Structural changes in terms of class categories only
(D) Economic changes only

33. Who has termed the Jajmani system as marking ‘the vertical unity’ of

castes 7
(A) Majumdar (B) Singer
(C) S.C. Dube (D) Srinivas

34. Oscar Lewis did a study of :
(A) Rampur Village (Delhi)
(B) Rampur Village (South India)
(C) Senapur Village (Uttar Pradesh)
(D) Badi Sadri Village (Rajasthan)
35. Which one of the following is not a feature of Industrial Society ?
(A) Division of Labour rests on Differentiation
(B) Declix;ing Inequalities |
(C) Rise of Middle classes

(D) Spread of Education
T.B.C.: 13/17/ET—III 18
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36. Who has used the term undevelopment rather than undéveloped ?
(A) Frank (B) Samir Amin
(C) Schumpeter (b) Gunnar Myrdal
37. Fatique among the industrial workers ‘can be minimised :
(A) By increaséng the working hours
(B) By providing congenial atmosphere in work-place |
(C) Both (A) and (B)
(D) None of the above
38. Through which process the worker’s benefits are derived in an industry ?
(A) Arbitration ’ . (B) Conciliation
(C) Collective Bargaining (D) Adjudication

39. According to whom, the mannual working class has become -increasing

heterogenous :
(A) Karl Marx (B) R. Dahrendorf
(C) Frank Parkin s, (D) Max Weber

40. N.R. Seth’s writings are associated with :
(A) Political Sociology (B) Health Sociology

(C) Industrial Sociology - (D) Gender Studies
T.B.C.: 13/17/ET—III 20 '
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41.

42.

43.

44,

45.

Who among the following constructed the empirical life table, based on the
data of births and deaths ?

(A) W. Petty (B) Edmund Halley

(C) M. Condorcet (D) R. Malthus

The first synchronic All India Census was organised in the year :
(A) 1871 (B) 1872

(C) 1901 (D) 1951

In a mature form, the modern Demographic Transition’ model theory is

associated with :
(A) Kingsley Davis (B) Frank Notestein
(C) Thomas Malthus (D) W.W. Rostow

Select one of the following set of processes leading to stable population

structure :

(A) Constant birth and death rate

(B) Increasing birth rate and constant death rate

(C) Decreasing birth rate and increasing death rate

(D) Constant birth rate and de;:reasing death rate

The science that studies population at old age is called :
(A) Gerontology : (B) Social Work

(C) Social Biology (D) Geneology

T.B.C.: 1317/ETIII 22
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46.

47,

48.

49,

Construction of Life Table is done with the help of ........cccccvvvevvecvrenenne .

(A) Infant Mortality Rate (B) Crude Death Rate

(C) Age-Specific Mortality Rate (D) Age-Sex Pyramid

Crude Birth Rate (CBR) is labelled as such because it does not take into

account :

(A) Demographic Transition

(B) Mortality Rate

(C) Age and Sex Composition of Population
(D) None of the above

In India, for the first time in 1976, the population policy was prepared under

the Chairmanship of :
(A) Dr. K. Srinivasan (B) Dr. Karan Singh

(C) Dr. C. Chandrasekharan = (D) Dr, M.S. Swaminathan

Those attributes or behaviour that confirm to the norms of one’s own sex

are known as :
(A) Gender Identity (B) Gender Appropriate

(C) Gender System (D) Gender Sensitisation

T.B.C. : 13/17/ET—III 24
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50. Which brand of Feminists accept the view that ‘State is a system of structures
and institutions created by man in order to recreate male domination and

female subordination’ ?

(A) Liberal Feminists (B) Radical Feminists

(C) Marxists Feminists (D) Eco Feminists
51, Kate Millet isa .cuovnciissnsiins feminist.

(A) Liberal | (B) Socialist

(C) Marxist (D) Radical

“ 52. The history of the Women’s movement is usually related to :
~ (A) The social reform movements of the 19th century
(B) The liberal feminist movements of the 20th century
(C) The radical feminist movements df the 21st century
(D) The democratic political movements of the post-colonial era
53. ‘Nepotism, Favouritism and misuse of power’ are all examples of :
(A) Social Inequality (B) Corruption

(C) White-Collar Crime (D) Conflict
T.B.C.: 13/17/ET—III 26
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Hfgen am<em w1 sfoew e €

(A) IHEE TE H GHE-GER Ko 9

(B) <wst Wt & IR wfeeaml <o |

(C) TF=rHal §El & IW YUR Afeaet sm<ed

(D) SW-SufEel He & i qorias eed 8
W—qm,ﬂwaﬂtmymmﬁﬁrﬁfﬂf@aﬁﬂﬁﬁmﬁm%?
(A) WIS AT (B) Y=TER

(C) The-TRT TI0Y (D) dud
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54. The concept of ‘Culture of Poverty’ was introduced by :
(A) Oscar Lewis (B) McKim Marriott
(C) Robert Redfield (D) David Hardiman
55. Which of the following does not cause global warming ?
(A) Greenhouse effects
(B) Rise in the earth’s temperature
(C) Nanotechnology
(D) Industrial development

56.  Which type of poverty refers to a lack of resources heeded to maintain

health and bodily functioning ?

(A) Absolute poverty (B) Reiative poverty

(C) Culture poverty | (D) Enforced poverty
57. Development refers to the process of :

(A) Increasing productivity

(B) Raising the standards of living

(C) Longer life expectancy

(D) All of the above
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54.

55.

56.

57.

‘P # GERf’ Sy RS g e T 2
(A) it afad (B) #fww Afe
(C) & ITHITS (D) 2faz wEEA
frefafen § @ Fa1 Afves FefdEm T8 SO =A@ 8 2
(A) WrERE 3vE

(B) Y&l & aguE H serad

© st

(D) Aenfrs faw™

W a9 YR fEanied s @ 63 snavad g S & A9e
% U9 fFe voR @t fdsa @ gt fFm s wwa € 2

(A) i frefar - @) e fe
() fadwm =t wepfa (D) vafda e
fretfafen & ¥ frg wiem & w9 fowm & @69 € ?
(A) SAEHa # gfg F

(B) Sfedad & ®R & FI S

(C) <Y wEa wemwn

(D) wg[aa [y
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58. Modernization views development as :
(A) Revolutionary (B) Evolutionary
(C) Abruptly (D) Forcefully

59. Auguste Comte’s idea of development is expressed in which of the following

three stages ?

(A) Militant, Industrial and Post-industrial
(B) Theological, Metaphysical and Positivistic
(C) Primitive, Ancient and Feudal

(D) Ancient, Feudal a.nd Capitalist

60. Which of the following is not the feature of capitalist mode of

development ?

(A) Provision of Private ownership of property and means of production
(B) Multiple Regulation on Market

(C) Minimum State Control on economic enterprise

(D) Free economy regulated by competition
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58.

59.

60.

wgﬁmmmﬁm%ﬁaﬂ%@m%?

(A)  HifawR (B) Sferpreia
(C) @ (D) SAEF
ST FTS & faew @ e @ e § @ R A owd d gt T o 2
(A) omEHE, AR iR S-S

(B) yHYIETE, TEHMEE X TOdHS

(C) nfem, W 3R =i

(D) W, IE=iE 991 e

freffafes § 4 #ra dae faem & ol T8 % 7
(A) mﬁ%ﬁaﬁawsﬁwﬁ%muﬁmw
(B) @SR @1 sga s

(C) s Iodl W =Aas Tew e

(D) Rt & ER W gE i feEm
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61.

62.

63.

64.

Which of the following is not one of the indicator of Human Development

as per Human Development Report ?
(A) To have high G.D.P. growth rate
(B) To have a long and healthy life
(C) To acquire knowledge

(D) To have descent standard of living

Who among the following views development as both the primary end and

the principal means of expression of freedom ?

(A) Jagdish Bhagwati (B) Raghuram Rajan

(C) Kaushik Basu (D) Amartya Sen

Who among the following describes the modern world as “Juggernaut” ?
(A) Milton Singer (B) George Ritzer

(C) Anthony Giddens (D) None of these

Which one of the following is rot a basic institution which defines modernity

according to Giddens ?
(A) Urbanization (B) Capitélism

(C) Industrialism (D) Military Power
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61.

62.

63.

64.

A fawm fod 3 oEr fre # A SFw ue fawm o ogEs ol w2
(A) TFE W 3ER H AEF 9fg |

(B) w4 du WY Sad & Bl

(C) ¥ 9 =hTd

(D) @A F TH =9 KL A

frefafes § ¥ o7 fros foan € & foom @ w9 d wafts @ aa1 7=

YA TF s w1 e & §9 R ¥ 2

(A) RN SR (B) TTH TSH

(C) =IfEF &g (D) W 61

fre § 3§ ey onyfie fava =) “gwEwel” & w9 # faafe fe o 2
(A) foea AR (B) WS figsr

(C) war frd (D) T ¥ #E T

fre # F F e den A ¥ S fdm @ ergen ey @ R

8 2
(A) TATIHT (B) s
(C) 3ireifirwarg D) I3 ufE
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65. Who among the following described human development as the ability to mix

with others without being ashamed to appear in public ?
(A) Adam Smith (B) David Ricardo

(C) W.W. Rostow (D) Gunnar Myrdal

66. Which indicator has recently replaced the gender developmént index of

Human Development Report ?
(A) Gender Empowerment Measure
(B) Gender Inequality Index
(C) Gender Discrimination Index
(D) None of the above
67. Which one of the following in not a Millennium Development Goal ?
(A) Eradicate Extreme Poverty
(B) Housing for the Poor
(C) Reduce Child Mortality

(D) Ensure Environmental Sustainability
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65.

66.

67.

7z fra faafaa fea 5 qma farm o e &, g fa feet o9 = e

w9 Y @l & WY wfad gen S § 2

(A) uen fmy B) =fag el

(C) T=gT=Yg, T (D) TR =™

T @ # IR gEE 3 Svet faew gEe w5 9re faw R & w9 8 55d
femm ® 2

(A) SIS HYIERTERTOT HI9H

(B) WS HHHAHAREF

(C) et PRIEYTF

(D) = # § & TR

frafafea § 4 ®=F geafe faem (frefmm Saam= Ta) s @ ¢ 2
(A) Sfiwor TS e

(B) el &% fag smEw

(C) =1a-9cg & A FH

(D) vatEy gaqa iy =
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68. Which among the following is not an indicator of Human Development

Index ?
(A) Life Expectancy | (B) Education Component
(C) National per Capita Income (D) Levgl of .Urbani?ation
69. How much reservation is given to women in Panchayati Raj Institution ?
(A) 173 - (B) 27
(C) 12 (D) 4/5
70. Which of thg following mpvements is called women’s movement 7
(A) Champaran Satyagraha (B) Indigo Revolt
(C) ‘Bardoli Satyagraha (D) Chipko Movement
71. Which Act fixed the age of marriage of boys and girls ?
(A) Roy Act (B) Sharda Act

(C) Hindu Act (D) Dowry Act
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68. Trefafem § ¥ Hw THa fawg GEHE w1 GRd TE § 2
(A) Sied e (B) fwien ===
(C) iy =afr T I (D) YA F wR
6o. e T wems & s W P s w1y o w2
A) T frE (B) = foerd
(C) "= yfaew | (D) =R =& 9=
70. frAfafaa on<iem § § smw dfgensl &1 a<em ¥ 2
(A) <URV HEWRE (B) sfeml Raiee
(C) SRR FemE (D) feg=l <A
71. &R fufm & swwia Te qu1 dsfwal #1 faae #1 eng favifm =t 7 ® 2
(A) 3 Hfyfam (B) gl sifufram

(C) feg anfufram (D) =& HAfufEw
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72. Roop Kanwar Case of 1988 in Rajasthan is famous for :
(A) Dowry Act (B) Special Marriage Act
(C) Succession Act (D) Sati Act

73.  Which of the following is not a form of domestic violence ?
(A) Dowry Deaths ' (B) Sexual Abuse
(C) Abduction (D) Wife battering

74. International Women Day is celebrated on :
(A) 8th February (B) 8th March
(C) 8th Jun;a (D) 8th July

75. ‘India has missed the Industrial Revolution, but can’t afford to miss the

knowledge Revolution’ — suggested by :
(A) Women’s Commission of India

(B) Ministry of Human Resources

(C) Education Commission, 1986

(D) Knowledge Commission of India
T.B.C.: 13/17/ET—III 38



72. USRUE F1 1988 FH FY Hol »E UHE ¥
(A) Tes sfufem & oo (B) faviw faame sifufem & fou
(C) wufver afufam & fag (D) &t sfufam & faw
73. TrAfafes 4 9 s =g G 1 w9 98 § 2
(A) TES 7Y I (B) dm Scdtes
(C) STu=T (D)ua?aﬁfqzriaﬂ%r
74. F<RINE wfeen fRew wAmEn W ¥ o
(A) 8 wE B) 8 #H =
(C) 8 5@ = (D) 8 Y& =i

75. ‘9Ra Senfits wifa # g T, W FE-%I § g 9 61 YR 98T T8 S ghar|’

I fraew ggmE ® 2

(A) wrg wfgen sEm

(B) #ra oy faswg @3
(C) fToran smam, 1986

(D) YEE F9 ™M
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